THE SUBSTITUTION t = tan(A/2)

2 Find: (a) jzﬂde (b) I __dx © ,[ dx

— COSX 34+ 2cosx 1+ sinx
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THE SUBSTITUTION t = tan(A/2)

3 Evaluate: (a) j:sccxdx (b) J' Zj{‘i 6
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THE SUBSTITUTION t = tan(A/2)

4 Find: (a)j dx

5+ 4cosx
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THE SUBSTITUTION t = tan(A/2)

4 Find: (d) j

3—=cosx
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THE SUBSTITUTION t = tan(A/2)

4 Find: (©) [53o2rdo

Tip: Start by adding and subtracting 2 at the numerator.
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THE SUBSTITUTION t = tan(A/2)

4 Find: (b) [7222-d6
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THE SUBSTITUTION t = tan(A/2)

4 Find: (6) | 2%—d

sinx +1
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THE SUBSTITUTION t = tan(A/2)

tan x
4 Find: (9) J‘ﬁd)—
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THE SUBSTITUTION t = tan(A/2)

dx
5 Using an appropriate substitution of the type f = tanx, find: (@) j 1+ sin2x
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THE SUBSTITUTION t = tan(A/2)

. . . (b) [tanZx ;.
5 Using an appropriate substitution of the type f = tanx, find: 1+cos2x -
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THE SUBSTITUTION t = tan(A/2)

Tea - 1 1 — l J. de
7 Use the substitution ¢t = tan > to find T+ cosf+<nB"
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THE SUBSTITUTION t = tan(A/2)

X

9 Use the substitution f = tan @ to find the exact value of | * L
o 24sin2#
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THE SUBSTITUTION t = tan(A/2)

(] |1-i

10 Using the substitution t = tanZ, or otherwise, evaluate _ dx .
2 Z 12sinx —5cosx +13
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